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D - Sum of Min of Xor

HEN
0000 $A,B$O0 $\sum_{1\le i\t j\le n}\min(a_i\oplus a_j,b_i\oplus b_j)$[]
0O

00000000000 %$a_iloplusa j$0 $b ioplusb j$0000000000000COO $a_i\oplus
a_j$0 $b ioplusb j$00D0DOODO

O0000000 $a_i\oplusb i$0 $a jloplusb j$ 0000000000

00000000 $k$0000000O0O0 $is0O0O0 $S,T$00 0O $S$ 000 $i$ 00O $a_i\oplus b_is
O $k$ 00 $0$0$T$ 0 OO $i$ 0O $a_i\oplus b_i$ O $k$ 0 O $1$0

0000 $\{i,j\}\subseteq S$ O $\{i,j\}\subseteqT$ O $(i,j)$ 000D O0DO0DODO0ODO $i\inSj\inT$
O$G()s0000

00 $ai$ 00 $k$ 0000 $0$000 $S$ 00 $50,5 1$0000 $T$ 00 $T.0,T_1$0

O0O0000 $i\in'S_0,j\in T_0$00 $\min(a_i\oplus a_j,b_i\oplus b_j)=a i\oplus a j$00 00000
$O0\left(n\log V\right)$ DO OO OO

000 $(5.0,T1),(51,70),51T1)$000000000000000000 $0\eft(nlog”2
V+2~W\right)$[]

0000000000000 0 $k=-1$00 $a_i\oplus b_i=a_ j\oplus b_j$00 O O $\min(a_i\oplus
a_j,b_i\oplus b_j)=a_i\oplus a_j=b_i\oplus b j$00 000000

const int MAXN = 2.5e5 + 5, MAXD = ;
int alMAXN], b[MAXN!, cnt ;
LL ans;
void calc(vector<int> L, vector<int> R
_for(i, 0, MAXD
LL s = 0;
cnt = cnt = 0;
int v : L
cntl(v >> i) & 1]++;
int v : R
s += cnt[!((v > 1) & ;
ans += (1LL << i) * s;
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void solve(vector<pair<int, int>> c, int d
c.size() == ;

_for(i, O, MAXD
LL s = 0;
cnt[0] = cnt[1l] = 0;
pair<int, int> p : C
cnt{(p.first >> i) & 1]++;
ans += (1LL << i) * cnt[0O] * cnt[1];

.
’

vector<pair<int, int>> L, R;
pair<int, int> p : c
p.first ©~ p.second) & (1 << d
R.push back(p);

L.push _back(p);

solve(L, d - 1);
solve(R, d - 1);
vector<int> temp(2][4];
pair<int, int> p : L
p.first & (1 << d
temp[0][2].push back(p.first);
temp[0][3].push back(p.second);

temp[O][0].push back(p.first);
temp[0O][1].push back(p.second);

pair<int, int> p : R
p.first & (1 << d
temp[1][2].push back(p.first);
temp[1][1].push back(p.second);

temp[1][0].push back(p.first);
temp[1][3].push back(p.second);

_for(i, 0, 4
calc(temp/0O][i], temp[l][i]);

int main
int n = read int();
_for(i, 0, n
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alil = read int();
_for(i, O, n
bli] = read int();

vector<pair<int, int>> c;
_for(i, 0, n
c.push back(make pair(alil, bli ;
solve(c, MAXD);
enter(ans);

.
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